Divide by Negative Powers of Ten (I)

43

28:

82

97

98:

16:

74 :

38:

22

71

Find each quotient.

:0,1= 23:0,001 =
0,1= 72:0,1=
:0,01 = 53:0,1=
:0,001 = 67:0,001 =
0,001 = 59:0,1=
0,1= 94:0,01 =
0,01 = 38:0,1 =
0,01 = 1:0,1=
:0,001 = 26:0,1=
:0,001 = 87:0,01 =
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Divide by Negative Powers of Ten (I) Answers

43

28:

82

97

98:

16:

74 :

38:

22

71

Find each quotient.

:0,1=430 23:0,001 =23.000
0,1 =280 72:0,1 =720

: 0,01 =8.200 53:0,1 =530

: 0,001 =97.000 67 :0,001 =67.000
0,001 =98.000 59:0,1 =590
0,1 =160 94:0,01 =9.400
0,01 =7.400 38:0,1 =380
0,01 =3.800 1:0,1=10

: 0,001 =22.000 26:0,1 =260

: 0,001 =71.000 87:0,01 =8.700
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